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= 195,107
< 87,600
Al 1,264,806
S2EM22Y 1,498,373 1,169,593 328,780
2 195,107
< 87,600
Al 1,215,666
SR NS 29 1,276,363 1,003,173 273,190
= 195,107
< 87,600
Al 993,656
CAE2HE (=) 288,533 431,468 A 142,935
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o IEEEES 17,400,000 = 10%* 1 1,740
O=NBe & NEUE 42,195
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-ENAE AUSEHIY HP(22/0E/
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“dU20IE 58 % =40 A2
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-S| e 2
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-0l EXE #HEES 1,000,000& 42 J| 4,000
o Helol= e 1,060
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29 100, 0008! * 14 100
-dE Y FIUEE RsE
20,0003 x45+128 960
O=&tl 3,162
0 FAN2E 2= 3,162,000 3,162
02 232gHl 159,000 160,520 A 1,520
OZ==2 A 138,000, 000& 138,000
OAZH| 1,000, 000& 1,000
OA & ZEHl S Xl 20,000,000& 20,000
202 Odl 7,000 5,000 2,000
01 = LH 4 Hi 7,000 5,000 2,000
O33N 2 29 7,000,000& 7,000
206 2 I 5,000 5,000 0
01 M= 4l 5,000 5,000 0
OdiE EINAZB (22, HE0=TMY)
5,000,000& 5,000
401 Al HI L 2 THHI 7,000 163,000 £ 156,000
01 A& HI 7,000 161,875 A 154,875
OESS LEDW M S At 7,000,000& 7,000
THE BN L D20 22 163,128 137,407 25,721
101 @14l 3,003 2,509 494
04 DIt 22 s+ 3,003 2,509 494
O=NEe & FNEH 3,002,080 3,003
201 £B-2% | 71,605 73,605 A 2,000
01 At 22l 33,000 33,000 0
O2E==EH| 27,600
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15,0003 305122 5,400
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300,000 *5JH A =120 & 18,000
o & 5 B3AE3 ¢
340,000 *50H 2 1,700
0248+ 2,100
o 2dRAE3 =1 70,0003 x15F #23| 2,100
O= &l 3,300
o &2k, JIE% FMEZ  3,300,000& 3,300
02 =24l 38,605 40,605 A 2,000
OZ222SLAA 3,120,000& 3,120
OAEE 8IS Xl 34,285,000 34,285
OFUE==O O|E2(EHOIX, AE4)
1,200,000 1,200
202 4l 4,300 4,300 0
01 = LH 4 Hi 4,300 4,300 0
OMNEE HEF 4,300,000 4,300
206 M= Hl 8,000 8,000 0
01 M= 4l 8,000 8,000 0
O33S 2,000,000& 2,000
O3S 100, 0003 24 2+ 1204 & 2,400
O=AS 40,0003 *4H 2« 1200 & 1,920
O MY 35,0003 x4 2 %1204 & 1,680
207 HPOH Y 4,520 28,993 A24,473
02 & A I 4,520 28,993 A24,473
o2t~ BHAIZZ )8 (89user)
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405 XA S 71,700 20,000 51,700
01 XAt = ZH SH| 71,700 20,000 51,700
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O LR AAE 20,000,000& 20,000
SIS A2 2 AIZE AF(XEAN) 38,667 0 38,667
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OZ22Z M2 2Nt HE2E =L AN &
2X& 12,430,000& 12,430
O3S N2 HEAIZE HAF2FAHE(FI)
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01 At 221l 4,737 0 4,737
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= 1,350
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= 1,350
Al 1,650
a2 A2 2HRE(EX) 188,800 179,200 9,600
< 69,600
Al 119,200
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< 57,600
Al 91,200
02 It S AHE L 148,800 139,200 9,600
OS2 2R 148,800, 000 148,800
< 57,600
Al 91,200
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02 LA TEALEZ(0IETHR) 40,000 0 40,000
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04 D12t 22 HEE = 19,949 18,715 1,234
OCTHZ AHEY L 2ATY A=Y
1,000,000 1,000
O=NMEel & NEUE 18,949
oJlE=a 51,760 2462 1 12,733
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oY Y 4UEEE 6,215,936 6,216
201 Bt A H| 17,309 19,309 A 2,000
01 At 22l ] 12,000 12,000 0
O2bBt=2H| 8,900
o HEAEH 2g YRFA 458,000& 458
o AFANE ¥ P2 240,000& 240
oMNREE Y 500,000 x4 3| 2,000
o IHEE SFEXN P 40,000& *20EF A 800
o BHZFHIES ol 300, 000& =23 600
o HAEE F¢ 100, 000& *3& *x33] 900
odE U HIAMES n=x
15,000 *8&= +12& 1,440
o d=xJ| A& 100,000& *1CH*33] 300
o &D|otA 22| Hl 2,161,266& 2,162
[ DE=2=d] 3,100
o HHEEH HLRFA 3,100,000 3,100
02 332494l 5,309 7,309 A 2,000
OZ2Z222YLHA 30,000& x12& 360
O2HHEE2 AIEEHI KX 4,949,000 4,949
202 04d| 2,000 2,000 0
01 2L Y| 2,000 2,000 0
OB AN 29 2,000,000& 2,000
206 M = Hl 4,000 4,000 0
01 X = Hl 4,000 4,000 0
OZSNESHE 7 4,000,000 4,000
ATHB 2Y 72,072 80,595 ~8,523
101 2121 d| 48,089 45,112 2,977
04 JIZtHIZ2E2EXNSE > 48,089 45,112 2,977
OCAZ EHEH L 8ZHH oF2Y
1,000, 000& 1,000
O=EAME2 & XMzt 47,089
o JlE=2 51,760& x250 »2H 25,880
oY Y 4UEE=E S 21,208,840& 21,209
201 et A | 17,483 20,983 A 3,500
01 AtR 22l ] 13,000 13,000 0
OB =2H| 9,900
0o =27Ed 29 gR=A 773,000& 773
o &P ME % 2 240,000 240
oMNBEEE 7Y 150,000& *123] 1,800
o StHAE FEXN FE 40,000& *208F A 800
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02 2=2=2494| 4,483 7,983 A 3,500
O = H| 600,000& 600
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202 044 2,000 2,000 0
01 2L Y| 2,000 2,000 0]
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OEANEESHE 2 4,500,000& 4,500
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= 8,143
& 2,442
Al 5,700
201 gEt24A Y| 16,285 0 16,285
= 8,143
& 2,442
Al 5,700
01 AP 22| d| 16,285 0 16,285
OHOSAHH A 84 16,285,000& 16,285
= 8,143
o 2,442
Al 5,700
TSNS HOISAMEIA AlAE 2= I (KH2)(EX) 7,715 0 7,715
= 3,857
o=t 1,158
Al 2,700
405 XHA&HF S HI 7,715 0 7,715
= 3,857
o= 1,158
Al 2,700
01 XML 2 FF S| 7,715 0 7,715
OHOISAHH A 28 23572 7,715,000 7,715
= 3,857
& 1,158
Al 2,700
KNAX (AT EAZ BHEZAEH AX)(EX) 288,000 0 288,000
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= 74,000
Al 144,000
401 Al HIZ 201 I 288,000 0 288,000
= 144,000
Al 144,000
01 A& HI 285,927 0 285,927
OANBES M2 (3MA) EHL2 4 AR
285,927,000& 285,927
2 142,964
Al 142,963
03 AIE S THHI 2,073 0 2,073
ONME S AH2(3MA) B2y &X
2,073,000& 2,073
=2 1,036
Al 1,037
TTCHB-NSCAHD ASHAY RE(2X) 48,000 0 48,000
< 14,400
Al 33,600
207 O] 48,000 0 48,000
< 14,400
Al 33,600
02 & &HIH I 48,000 0 48,000
o458y 2= 48,000,000& 48,000
< 14,400
Al 33,600
SETHBA-HE2EHMZ ASEAY AZ(XH) 35,000 0 35,000
207 RO 35,000 0 35,000
02 ™A I 35,000 0 35,000
OZZT~H2CHY SHA2Y 75
35,000, 000& 35,000
FowAaEH 122,010 86,420 35,590
AN A2 (22) 109,990 75,580 34,410
201 Let24El 36,500 23,500 13,000
03 & Ar2 I 36,500 23,500 13,000
O23tus 2 watdH 80 EES MH
1,500, 000& 1,500
O=2H AZHAS 2I23 2,000,000& 2,000
O A& F2H(49) 2,000,000& 2,000
OS Mo AH(9E) 3,000,000& 3,000
O=SMHUA(HE, HS8) 2,000,000& 2,000
O N2 8F HEgsts A 1,000, 000& 1,000
O=3tns 24 9,000,000 9,000
OO0l EA2 =228 2% 2,000,000 2,000
O =2t Z208 24 1,000,000 1,000
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EAM: NEEZAM2
B 2RCNEEY
o9l 23naSY CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OS A2 £(98) A 200,000 x5 = 1,000
OSSN (HE) 100,000 x5 = 500
OX0Ite T 40,000 183 720
O3tz 100,000& *23| 200
301 et A= 2,500 2,000 500
11 JIEtE A2 2,500 2,000 500
OEAMLA, 0Dl TA2, ST 2 )2 2
AN S 2,500,000 2,500
NN 100,000 80,000 20,000
N2RUA(ZA, HHEAM) 100,000 80,000 20,000
405 KHoHFE S HI 100,000 80,000 20,000
02 & A 2| 100,000 80,000 20,000
OXNZ2RA(ZA, HHEAN) 100,000, 000 100,000
HHSHAY (AMBEZAR) 49,140 41,940 7,200
JI2HYI(AME M) 49,140 41,940 7,200
Jl2HH| (A E A2 49,140 41,940 7,200
201 et 9| 22,620 16,620 6,000
01 AP 22| H| 22,620 16,620 6,000
O2E4+= 16,500
o YA (22) 60,000& *119 »1H 7,140
0 LHL(OBOIENY)
60,0008 522 x1H 3,120
o YA (OHAEH 60,000 52 x1H 3,120
o AR L (2 REH) 60,000& x52L x1H 3,120
O2g = 6,120
o A& YdR(E)SE 60,0008 x51 x2H 6,120
202 04| 21,600 20,400 1,200
01 2Ll 21,600 20,400 1,200
OSE =20 100,000 182 x12& 21,600
203 €2 F=&d| 4,920 4,920 0
02 BRI R = XH]| 720 720 0
OANE M2 40,000 x18H 720
04 EASHEIRFAH| 4,200 4,200 0
ORANSII 2= 350,000 x12& 4,200




